#### Bid Committee Bid Tab

City Clerk

## Bid OCWUT WC-0876 Ended At Aug 7, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Atoka Pipeline Raw Water Transmission Line

Company:	McKee Utility Contractors, Inc.	BELT CONSTRUCTION, INC	
Base Bid	\$39,841,088.54	\$50,977,722.00	
TOTAL BID:	\$39,841,088.54	\$50,977,722.00	

Tresha Williams	Chad Harrison	Brett Rangel
City Clerk	Purchasing Agent	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

#### Bid #OCWUT WC-0876 - Atoka Pipeline Raw Water Transmission Line

Creation Date **Jun 28, 2024** End Date **Aug 7, 2024 10:00:00 AM CDT** 

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

McKee Utility Contractors, Inc.

\$39,841,088.54 (70/70 items)

Address 2319 West Main

**Prague, OK 74864** 

Bid Contact Shane McKee

shane@mckeeutility.com

Ph 405-567-7506

Qualific	ations OKC PRE-QUALIFIED CONTRACTORS			
Agency I	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT WC- 0876- -01-01	Base Bid: PROCURE 60 INCH STEEL PIPE (CLASS 200) - First Offer	\$550.00	3774 / linear foot	\$2,075,700.00
Product	Code:	Supplier Product Code:		
Agency I	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-02	Base Bid: PROCURE 84 INCH CASING PIPE 5/8 INCH THICK (FOR 60 INCH WATER LINE) - First Offer	\$650.00	144 / linear foot	\$93,600.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-03	Base Bid: PROCURE 60 INCH DIA. BEND FROM 5.1 DEGREE TO 22.5 DEGREE (CLASS 200) - First Offer	\$16,500.00	20 / each	\$330,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-04	Base Bid: PROCURE 60 INCH DIA. MITERED BELL FROM 2 DEGREE TO 5 DEGREE (CLASS 200) - First Offer	, .,	4 / each	\$24,000.00
Product	Code:	Supplier Product Code:		
Agency I	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-05	Base Bid: INSTALL 72 INCH STEEL PIPE - First Offer	\$376.00	56614 / linear foot	\$21,286,864.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-06	Base Bid: INSTALL 60 INCH STEEL PIPE - First Offer	\$325.00	3774 / linear foot	\$1,226,550.00
Product		Supplier Product Code:		
Agency I		Supplier Notes:		
OCWUT WC- 0876- -01-07	Base Bid: REMOVE 72 INCH EXTERNAL PLUG - First Offer	\$1,500.00	2 / each	\$3,000.00

a ripeille	Naw water	ธานธเธ		
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-08	Base Bid: TRENCH DAM - First Offer	\$1,500.00	10 / each	\$15,000.00
Product		Supplier Product Code:		
Agency I		Supplier Notes:		1.0.0.0.0.0
OCWUT WC- 0876- -01-09	Base Bid: 96 INCH CASING PIPE 5/8 INCH THICK (BY BORE) - First Offer	\$4,000.00	160 / linear foot	\$640,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-10	Base Bid: 84 INCH CASING PIPE 5/8 INCH THICK (BY BORE) - First Offer	\$3,800.00	144 / linear foot	\$547,200.00
Product		Supplier Product Code:		
Agency I		Supplier Notes:		
OCWUT WC- 0876- -01-11	Base Bid: EXIST. 60 INCH LINE CONCRETE PIPE ENCASEMENT - First Offer	\$2,000.00	160 / linear foot	\$320,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-12	Base Bid: 72 INCH MONOLITHIC ISOLATION JOINT - First Offer	\$150,000.00	2 / each	\$300,000.00
Product	Code:	Supplier Product Code:		
Agency I	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-13	Base Bid: 60 INCH STEEL PIPE TO EXIST. PCCP CONNECTION - First Offer	\$50,000.00	4 / each	\$200,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-14	Base Bid: 6 INCH COMBINATION AIR VACUUM VALVE & VAULT SINGLE BODY (72 INCH MAIN) - First Offer	\$50,000.00	23 / each	\$1,150,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: 6 INCH COMBINATION AIR VACUUM VALVE &	\$50,000.00	2 / each	\$100,000.00
WC- 0876- -01-15	VAULT SINGLE BODY (60 INCH MAIN) - First Offer	\$30,000.00	27 CdCii	\$100,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-16	Base Bid: 14 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (72 INCH MAIN) - First Offer	\$57,000.00	7 / each	\$399,000.00
Product		Supplier Product Code:		
<b>Agency N</b>	Notes:    Base Bid: 12 INCH COMBINATION AIR VACUUM VALVE &	Supplier Notes: \$54,000.00	12 / each	\$648,000.00

a Pipeline	Raw Water its	s Trusts		
WC- 0876- -01-17	VAULT DUAL BODY (72 INCH MAIN) - First Offer			
Product		Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-18	Base Bid: 10 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (72 INCH MAIN) - First Offer	\$52,000.00	2 / each	\$104,000.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-19	Base Bid: 12 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (60 INCH MAIN) - First Offer	\$54,000.00	1 / each	\$54,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-20	Base Bid: 72 INCH BLOW OFF VALVE & VAULT WITH TAILPIPE - First Offer	\$50,000.00	23 / each	\$1,150,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-21	Base Bid: 60 INCH BLOW OFF VALVE & VAULT WITH TAILPIPE - First Offer	\$50,000.00	2 / each	\$100,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-22	Base Bid: PRESSURE CLASS 200 REDUCING FLANGE - First Offer	\$10,000.00	31 / each	\$310,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-23	Base Bid: PRESSURE CLASS 200 TEMPORARY TEST PLUG - First Offer	\$1,500.00	8 / each	\$12,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-24	Base Bid: EXTERNAL TEST PLUG (CLASS 200) - First Offer	\$1,500.00	2 / each	\$3,000.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:	1./1	#4.500.000.00
OCWUT WC- 0876- -01-25	Base Bid: CLEARING AND GRUBBING - First Offer	\$1,600,000.00	1 / lump sum	\$1,600,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-26	Base Bid: CATHODIC PROTECTION - First Offer	\$500,000.00	1 / lump sum	\$500,000.00
I .		I .		I

WCC	a ripellile	Naw Water	s musis		
Supplier Product Code: Agency Notes:   Supplier Product Code: Supplier Notes:   Su					
Agency Notes:   Supplier Notes:   Supplier Product Code:   Supplier Notes:   Supp	WC- 0876-	Base Bid: MOBILIZATION - First Offer	\$1,600,000.00		\$1,600,000.00
CAMUT   Rase Bid: CONSTRUCTION PIPE CLEANING - First Offer   \$2,500.00   \$1/1 lmp   \$2,500.00   \$2,					
Agency Notes:   Supplier Notes:   Supplier Notes:   Supplier Product Code:   Supplier Notes:   Supplier Product Code:   Supplier Notes:   Supplier Product Code:   Supplier Product Code:   Supplier Product Code:   Supplier Notes:   Supplier Note	OCWUT WC- 0876-	Γ			\$2,500.00
CCWUT   Base Bid: UNCLASSIFIED EXCAVATION - First Offer   \$0.01   1000 / cubic yard   \$10.00   \$10.0					
Agency Notes   Supplier Notes   Supplier Notes   \$150.00   \$00 / each   \$75,000.00   \$75,000.0	OCWUT WC- 0876-				\$10.00
CCWUT   WC- WC- Quart   Base Bid: EASEMENT MARKER - First Offer WC- Quart   Supplier Product Code: Supplier Notes:   Supplier Product Code: Supplier Notes:   Supplier Product Code: Supplier Notes:   Supplier Not					
Agency Notes:         Supplier Notes:           OCWUT WC-0876-01-31         Base Bid: REMOVE CONC. EASEMENT MARKER - First Offer vOrder.         \$5,000.0         200 / each         \$5,000.0           Product Code: Agency Notes:         Supplier Product Code: Supplier Notes:         Supplier Notes:         \$17,946.0           OCWUT WC-0876-01-32         Base Bid: REMOVE FENCE (BARBED WIRE) - First Offer vOrders:         Supplier Product Code: Supplier Notes:         \$2.00         8973 / linear foot         \$17,946.0           OCWUT WC-0876-01-32         Base Bid: FENCE (BARBED WIRE) - First Offer vOrders:         \$5.00         9095 / linear foot         \$45,475.0           Product Code: Agency Notes:         Supplier Product Code: Supplier Notes:         \$2.00         150 / linear foot         \$300.0           OCWUT WC-0876-01-34         Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-01-34         \$2.00         150 / linear foot         \$300.0           Product Code: Agency Notes:         Supplier Product Code: Supplier Notes:         \$2.00 / linear foot         \$2.00 / linear foot <td< td=""><td>OCWUT WC- 0876-</td><td></td><td></td><td>500 / each</td><td>\$75,000.00</td></td<>	OCWUT WC- 0876-			500 / each	\$75,000.00
OCWUT Base Bid: REMOVE CONC. EASEMENT MARKER - First Offer WC-0876-01-31  Product Code: Agency Notes:  OCWUT Base Bid: REMOVE FENCE (BARBED WIRE) - First Offer WC-0876-01-32  Product Code: Supplier Product Code: Supplier Notes:  OCWUT Base Bid: FENCE (BARBED WIRE) - First Offer WC-0876-01-32  Product Code: Supplier Notes:  OCWUT Base Bid: FENCE (BARBED WIRE) - First Offer WC-0876-01-33  Product Code: Agency Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-0876-01-33  Product Code: Supplier Product Code: Supplier Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-0876-01-33  Product Code: Supplier Product Code: Supplier Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-0876-01-34  Product Code: Supplier Product Code: Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Product Code: Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:				1	
Agency Notes:  OCWUT WC- 0876-0-1-32  Product Code: Agency Notes:  OCWUT WC- 0876-0-1-32  Product Code: Agency Notes:  OCWUT WC- 0876-0-1-32  Product Code: Agency Notes:  OCWUT WC- 0876-0-1-33  Product Code: Supplier Product Code: Supplier Notes:  OCWUT WC- 0876-0-1-33  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (BARBED WIRE) - First Offer WC- 091-33  Product Code: Agency Notes:  OCWUT WC- 0876-0-1-34  Product Code: Agency Notes:  OCWUT WC- 0876-0-1-34  Product Code: Supplier Product Code: Supplier Notes:  OCWUT WC- 0876-0-1-34  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer WC- 091-34  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Notes:  OCWUT Supplier Product Code:	OCWUT WC- 0876-			200 / each	\$5,000.00
OCWUT WC- 0876- 01-32  Product Code: Agency Notes:  OCWUT WC- 0876- 01-33  Product Code: Agency Notes:  OCWUT WC- 0876- 01-33  Product Code: Agency Notes:  OCWUT WC- 0876- 01-33  Product Code: Agency Notes:  OCWUT WC- 0876- 01-34  Product Code: Agency Notes:  OCWUT WC- 0876- 01-35  Product Code: Agency Notes:  OCWUT WC- 0876- 01-31  Supplier Product Code: Supplier Notes:  OCWUT WC- 0876- 01-34  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:				1	
Product Code: Agency Notes:  OCWUT Base Bid: FENCE (BARBED WIRE) - First Offer WC-0876-01-33  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (BARBED WIRE) - First Offer Supplier Product Code: Agency Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-01-34  Product Code: Agency Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer Supplier Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:  OCWUT Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer Supplier Notes:	OCWUT WC- 0876-				\$17,946.00
OCWUT WC- 087601-33  Product Code: Agency Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC- 087601-34  Product Code: Agency Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC- 087601-34  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer WC- 087601-34  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer WC- 087601-35  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:  \$2.00   150 / linear   \$300.00   foot   \$2,000.00   \$2,	Product			1	
Agency Notes:  OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-0876-01-34  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer WC-0876-01-35  Product Code: Supplier Notes:  Supplier Product Code: \$10.00 200 / linear foot  \$2,000.00 f	OCWUT WC- 0876-				\$45,475.00
OCWUT Base Bid: REMOVE FENCE (WOVEN WIRE) - First Offer WC-0876-01-34  Product Code: Agency Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer WC-0876-01-35  Product Code: Supplier Product Code: Supplier Notes:  OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer WC-0876-01-35  Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:					
Agency Notes:  OCWUT WC- 087601-35  Product Code: Agency Notes:  Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Product Code: Supplier Notes:	OCWUT WC- 0876-				\$300.00
OCWUT Base Bid: FENCE (WOVEN WIRE) - First Offer \$10.00 200 / linear foot \$2,000.00 \$200 / linear foot					
Agency Notes: Supplier Notes:	OCWUT WC- 0876-				\$2,000.00
OCWUT Base Big: REMOVE AND REPLACE FENCE (STEEL PIPE) - FIRST \$65.00   2007 linear   \$13,000.0	OCWUT	Base Bid: REMOVE AND REPLACE FENCE (STEEL PIPE) - First		200 / linear	\$13,000.00

a Fipeline Raw Water	its Trusts
WC- 0876- -01-36	Offer foot
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
OCWUT Base Bid: ACCESS GATES - Fil WC- 0876- -01-37	t Offer \$5,000.00 66 / each \$330,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: REMOVE AND REPLACE ROADWAY (GRAVE WC-087601-38	7 - First \$15.00 \$500 / \$7,500.00 \$7,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: ROADWAY CROSSING (GRAVEL) - Fit WC- 0876- -01-39	t Offer \$15.00 4589 / \$68,835.00 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: REMOVE ROADWAY (ASPHALT) - Fit WC- 0876- -01-40	t Offer \$7.00 349 / \$2,443.00 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: ROADWAY CROSSING (ASPHALT) - Fit WC- 0876- -01-41	t Offer \$125.00 349 / \$43,625.00 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: PLUG, GROUT FILL & ABANDON EXIST. 60' WC- 087601-42	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: REMOVE EXIST. 60" WATER LINE - Fit WC-087601-43	t Offer \$50.00 867 / linear foot \$43,350.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: CONSTRUCTION ENTRANCE - Fit WC-087601-44	t Offer \$0.01 11654 / \$116.54 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT Base Bid: REMOVE CORRUGATED METAL PIPE (24 WC- Fil 0876-	NCH) - \$1.00   24 / linear   \$24.00 t Offer   foot

a ripellile i	Naw water	s musis		
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-46	Base Bid: REMOVE CORRUGATED METAL PIPE (30 INCH) - First Offer	\$1.00	65 / linear foot	\$65.00
Product (		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-47	Base Bid: REMOVE CORRUGATED METAL PIPE (48 INCH) - First Offer	\$1.00	85 / linear foot	\$85.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-48	Base Bid: CORRUGATED METAL PIPE (18 INCH) - First Offer	\$50.00	970 / linear foot	\$48,500.00
Product (		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-49	Base Bid: CORRUGATED METAL PIPE (24 INCH) - First Offer	\$60.00	30 / linear foot	\$1,800.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-50	Base Bid: CORRUGATED METAL PIPE (36 INCH) - First Offer	\$80.00	700 / linear foot	\$56,000.00
Product (		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-51	Base Bid: CORRUGATED METAL PIPE (48 INCH) - First Offer	\$100.00	150 / linear foot	\$15,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-52	Base Bid: REMOVE 9 FTx5 FT HECMP - First Offer	\$50.00	50 / linear foot	\$2,500.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-53	Base Bid: 77 1/2 INCHx122 INCH ARCH CORRUGATED METAL PIPE - First Offer	\$300.00	50 / linear foot	\$15,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-54	Base Bid: TEMPORARY STREAM CROSSING - First Offer	\$15,000.00	25 / each	\$375,000.00
Product (		Supplier Product Code:		
Agency N	lotes:  Base Bid: RIPRAP - TYPE 1 - First Offer	Supplier Notes: \$100.00	5621 /	\$562,100.00
55,101	Dasc Black in the First Office	\$100.00	00217	<del>+502,100.00</del>

a Pipeline	Raw Water its	s Trusts		
WC- 0876- -01-55			square yard	
Product		Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-56	Base Bid: RIPRAP - TYPE 2 - First Offer	\$175.00	4050 / square yard	\$708,750.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-57	Base Bid: RIPRAP - TYPE 3 - First Offer	\$215.00	2901 / square yard	\$623,715.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-58	Base Bid: CONCRETE CABLE MAT (CC20) - First Offer	\$135.00	5014 / square yard	\$676,890.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-59	Base Bid: CONCRETE CABLE MAT (CC35) - First Offer	\$150.00	340 / square yard	\$51,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-60	Base Bid: SEEDING (NATIVE GRASSES) - First Offer	\$15.00	15 / square yard	\$225.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-61	Base Bid: SOLID SLAB SODDING - First Offer	\$20.00	20971 / square yard	\$419,420.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-62	Base Bid: HYDROSEEDING - First Offer	\$15,000.00	2 / acre	\$30,000.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-63	Base Bid: TEMPORARY CONSTRUCTION ENTRANCE - First Offer	\$6,000.00	27 / each	\$162,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-64	Base Bid: EROSION & SEDIMENT CONTROL - First Offer	\$150,000.00	1 / lump sum	\$150,000.00

Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-65	Base Bid: HYDROSTATIC PRESSURE TESTING - First Offer	\$10,000.00	1 / lump sum	\$10,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-66	Base Bid: GPS AS-BUILT SURVEY - First Offer		1 / lump sum	\$5,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-67	Base Bid: COLOR AUDIO/VIDEO PRE & POST CONSTRUCTION - First Offer	\$10,000.00	1 / lump sum	\$10,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-68	Base Bid: CONSTRUCTION STAKING - First Offer	\$70,000.00	1 / lump sum	\$70,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-69	Base Bid: CONSTRUCTION TRAFFIC CONTROL - First Offer	\$35,000.00	1 / lump sum	\$35,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-70	Base Bid: 10-INCH BLOW OFF ASSEMBLY EXTENSION COMPLETE (SEE SHEET C-001) - First Offer		1 / lump sum	\$55,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
Agency IV	otes.	заррнег носез.	1.	ot <b>Total:</b> \$39,841,088.54

BELT CO	BELT CONSTRUCTION, INC \$50,977,722.00 (70/70 items)				
Bid Contact  MARLA STUEHRENBERG  david@beltinc.com  Ph 870-772-7216  Fax 870-772-7233  Qualifications  Bid Bond  Wighter Status: This bid bond could not be verified)  Surety 2000 Number Did Not Work. Attaching Bid Bond to a Bid Item, per OKC. Surety 2000 Bond nur SOK0807674056.				, AR 71854	
Agency I	Notes:		Supplier Notes: Surety 200 a Bid Item, per OKC. Surety		Not Work. Attaching Bid Bond to mber is SOK0807674056.
Item#	Line Ite	m	Unit Price	Qty/Unit	Total Price
OCWUT WC- 0876- -01-01	Base B	id: PROCURE 60 INCH STEEL PIPE (CLASS 200) - First Offer		3774 / linear foot	\$2,264,400.00

ш	Tan Water	5 114515		
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-02	Base Bid: PROCURE 84 INCH CASING PIPE 5/8 INCH THICK (FOR 60 INCH WATER LINE) - First Offer	\$550.00	144 / linear foot	\$79,200.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-03	Base Bid: PROCURE 60 INCH DIA. BEND FROM 5.1 DEGREE TO 22.5 DEGREE (CLASS 200) - First Offer		20 / each	\$200,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-04	Base Bid: PROCURE 60 INCH DIA. MITERED BELL FROM 2 DEGREE TO 5 DEGREE (CLASS 200) - First Offer	\$700.00	4 / each	\$2,800.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-05	Base Bid: INSTALL 72 INCH STEEL PIPE - First Offer	\$485.00	56614 / linear foot	\$27,457,790.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-06	Base Bid: INSTALL 60 INCH STEEL PIPE - First Offer	\$560.00	3774 / linear foot	\$2,113,440.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-07	Base Bid: REMOVE 72 INCH EXTERNAL PLUG - First Offer	\$2,500.00	2 / each	\$5,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-08	Base Bid: TRENCH DAM - First Offer	\$1,600.00	10 / each	\$16,000.00
Product		Supplier Product Code:		
OCWUT WC- 0876- -01-09	Base Bid: 96 INCH CASING PIPE 5/8 INCH THICK (BY BORE) - First Offer	\$4,000.00	160 / linear foot	\$640,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-10	Base Bid: 84 INCH CASING PIPE 5/8 INCH THICK (BY BORE) - First Offer	\$4,000.00	144 / linear foot	\$576,000.00
Product		Supplier Product Code:		
Agency N	Notes:  Base Bid: EXIST. 60 INCH LINE CONCRETE PIPE	Supplier Notes: \$900.00	160 / linear	\$144,000.00
024401	DUSC DIG. EXIST. OF INCITEINE CONCILE EFFE	Ψ,00.00	1007 iirieai	¥1 <del>11</del> ,000.00

a Pipeline	Raw Water its	s Trusts		
WC- 0876- -01-11	ENCASEMENT - First Offer		foot	
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-12	Base Bid: 72 INCH MONOLITHIC ISOLATION JOINT - First Offer	\$125,000.00	2 / each	\$250,000.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0876- -01-13	Base Bid: 60 INCH STEEL PIPE TO EXIST. PCCP CONNECTION - First Offer	\$165,000.00	4 / each	\$660,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-14	Base Bid: 6 INCH COMBINATION AIR VACUUM VALVE & VAULT SINGLE BODY (72 INCH MAIN) - First Offer	\$60,000.00	23 / each	\$1,380,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-15	Base Bid: 6 INCH COMBINATION AIR VACUUM VALVE & VAULT SINGLE BODY (60 INCH MAIN) - First Offer	\$86,000.00	2 / each	\$172,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-16	Base Bid: 14 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (72 INCH MAIN) - First Offer	\$77,000.00	7 / each	\$539,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-17	Base Bid: 12 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (72 INCH MAIN) - First Offer	\$70,000.00	12 / each	\$840,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-18	Base Bid: 10 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (72 INCH MAIN) - First Offer	\$66,000.00	2 / each	\$132,000.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-19	Base Bid: 12 INCH COMBINATION AIR VACUUM VALVE & VAULT DUAL BODY (60 INCH MAIN) - First Offer	\$93,000.00	1 / each	\$93,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-20	Base Bid: 72 INCH BLOW OFF VALVE & VAULT WITH TAILPIPE - First Offer	\$73,000.00	23 / each	\$1,679,000.00

a ripeille	Naw Water	s musis		
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-21	Base Bid: 60 INCH BLOW OFF VALVE & VAULT WITH TAILPIPE - First Offer	\$120,000.00	2 / each	\$240,000.00
		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: PRESSURE CLASS 200 REDUCING FLANGE - First	\$24,000.00	31 / each	\$744,000.00
WC- 0876- -01-22	Offer			
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-23	Base Bid: PRESSURE CLASS 200 TEMPORARY TEST PLUG - First Offer	\$42,000.00	8 / each	\$336,000.00
Product (		Supplier Product Code:		
Agency N		Supplier Notes:	2 /  -	#22,000,00
OCWUT WC- 0876- -01-24	Base Bid: EXTERNAL TEST PLUG (CLASS 200) - First Offer	\$16,000.00	2 / each	\$32,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-25	Base Bid: CLEARING AND GRUBBING - First Offer	\$220,000.00	1 / lump sum	\$220,000.00
Product (	Code:	Supplier Product Code:	1	<u> </u>
Agency N		Supplier Notes:	I	I
OCWUT WC- 0876- -01-26	Base Bid: CATHODIC PROTECTION - First Offer	\$700,000.00	1 / lump sum	\$700,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-27	Base Bid: MOBILIZATION - First Offer	\$2,400,000.00	1 / lump sum	\$2,400,000.00
Product		Supplier Product Code:	'	
Agency N	Notes:  Base Bid: CONSTRUCTION PIPE CLEANING - First Offer	Supplier Notes: \$60,000.00	1 / lump	\$60,000.00
WC- 0876- -01-28	base blu. CONSTRUCTION FIFE CLEANING - FIISCOTIE	\$60,000.00	sum	\$60,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-29	Base Bid: UNCLASSIFIED EXCAVATION - First Offer	\$85.00	1000 / cubic yard	\$85,000.00
Product		Supplier Product Code:		
Agency N OCWUT	Notes:  Base Bid: EASEMENT MARKER - First Offer	Supplier Notes: \$100.00	500 / each	\$50,000.00
JCVVUI	base blu. EASEIVIENT IVIAKKER - FIISLOTIEF	\$100.00	Jour Each	\$50,000.00

Supplier Product Code:		
Supplier Notes:		
fer \$500.00	200 / each	\$100,000.00
Supplier Product Code: Supplier Notes:		
fer \$2.00	8973 / linear foot	\$17,946.00
Supplier Product Code: Supplier Notes:		
fer \$7.00	9095 / linear foot	\$63,665.00
Supplier Product Code: Supplier Notes:		
fer \$3.00	150 / linear foot	\$450.00
Supplier Product Code: Supplier Notes:		
fer \$9.00	200 / linear foot	\$1,800.00
Supplier Product Code: Supplier Notes:		
I	200 / linear foot	\$10,000.00
Supplier Product Code: Supplier Notes:		
fer \$3,000.00	66 / each	\$198,000.00
Supplier Product Code: Supplier Notes:		
I	500 / square yard	\$42,500.00
Supplier Product Code: Supplier Notes:		
fer \$85.00	4589 / square yard	\$390,065.00
f f f	Supplier Notes:  Supplier Product Code: Supplier Product Code: Supplier Notes:  Supplier Notes:	Supplier Notes:    Supplier Product Code: Supplier Notes:

a Pipeline	Raw Water	s Trusts		
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-40	Base Bid: REMOVE ROADWAY (ASPHALT) - First Offer	\$15.00	349 / square yard	\$5,235.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-41	Base Bid: ROADWAY CROSSING (ASPHALT) - First Offer	\$160.00	349 / square yard	\$55,840.00
Product Agency I		Supplier Product Code: Supplier Notes:		
	Base Bid: PLUG, GROUT FILL & ABANDON EXIST. 60" WATER LINE - First Offer		2060 / linear foot	\$267,800.00
Product		Supplier Product Code:	1	
OCWUT WC- 0876- -01-43	Base Bid: REMOVE EXIST. 60" WATER LINE - First Offer	\$300.00	867 / linear foot	\$260,100.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-44	Base Bid: CONSTRUCTION ENTRANCE - First Offer	\$23.00	11654 / square yard	\$268,042.00
Product		Supplier Product Code:	1	
<b>Agency I</b> OCWUT WC- 087601-45	Base Bid: REMOVE CORRUGATED METAL PIPE (24 INCH) - First Offer	\$60.00	24 / linear foot	\$1,440.00
Product		Supplier Product Code:	1	
<b>Agency I</b> OCWUT WC- 087601-46	Base Bid: REMOVE CORRUGATED METAL PIPE (30 INCH) - First Offer	\$35.00	65 / linear foot	\$2,275.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-47	Base Bid: REMOVE CORRUGATED METAL PIPE (48 INCH) - First Offer	\$44.00	85 / linear foot	\$3,740.00
		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-48	Base Bid: CORRUGATED METAL PIPE (18 INCH) - First Offer	\$70.00	970 / linear foot	\$67,900.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: CORRUGATED METAL PIPE (24 INCH) - First Offer	\$90.00	30 / linear	\$2,700.00

a Pipeline F	daw Water its	s Trusts		
WC- 0876- -01-49			foot	
Product C		Supplier Product Code:		
Agency No		Supplier Notes:	T 1	
OCWUT WC- 0876- -01-50	Base Bid: CORRUGATED METAL PIPE (36 INCH) - First Offer	\$130.00	700 / linear foot	\$91,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-51	Base Bid: CORRUGATED METAL PIPE (48 INCH) - First Offer	\$200.00	150 / linear foot	\$30,000.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-52	Base Bid: REMOVE 9 FTx5 FT HECMP - First Offer	\$120.00	50 / linear foot	\$6,000.00
Product C		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-53	Base Bid: 77 1/2 INCHx122 INCH ARCH CORRUGATED METAL PIPE - First Offer	\$600.00	50 / linear foot	\$30,000.00
Product C		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-54	Base Bid: TEMPORARY STREAM CROSSING - First Offer	\$5,200.00	25 / each	\$130,000.00
Product C		Supplier Product Code:		
Agency No		Supplier Notes:	5621 /	¢4.067.000.00
OCWUT WC- 0876- -01-55	Base Bid: RIPRAP - TYPE 1 - First Offer	\$190.00	square yard	\$1,067,990.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-56	Base Bid: RIPRAP - TYPE 2 - First Offer	\$200.00	4050 / square yard	\$810,000.00
Product C	ode:	Supplier Product Code:		
Agency No	otes:	Supplier Notes:		
OCWUT WC- 0876- -01-57	Base Bid: RIPRAP - TYPE 3 - First Offer	\$250.00	2901 / square yard	\$725,250.00
Product C Agency No		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-58	Base Bid: CONCRETE CABLE MAT (CC20) - First Offer	\$180.00	5014 / square yard	\$902,520.00

a ripellile	Naw Water	s musis		
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-59	Base Bid: CONCRETE CABLE MAT (CC35) - First Offer	\$25.00	340 / square yard	\$8,500.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: SEEDING (NATIVE GRASSES) - First Offer	\$50.00	15 / square	\$750.00
WC- 0876- -01-60	base sid. SEESIIVG (IVVIIVE GIV 65ES) Till SEORE	\$30.00	yard	4750.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-61	Base Bid: SOLID SLAB SODDING - First Offer	\$4.00	20971 / square yard	\$83,884.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0876- -01-62	Base Bid: HYDROSEEDING - First Offer	\$3,600.00	2 / acre	\$7,200.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-63	Base Bid: TEMPORARY CONSTRUCTION ENTRANCE - First Offer	\$2,500.00	27 / each	\$67,500.00
Product		Supplier Product Code:		
<b>Agency N</b> OCWUT	Notes:  Base Bid: EROSION & SEDIMENT CONTROL - First Offer	<b>Supplier Notes:</b> \$160,000.00	1 / lump	\$160,000.00
WC- 0876- -01-64	base blu, erosion & sediivient Control - filst offer	\$100,000.00	sum	\$100,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-65	Base Bid: HYDROSTATIC PRESSURE TESTING - First Offer	\$200,000.00	1 / lump sum	\$200,000.00
Product		Supplier Product Code:		
Agency N OCWUT	Base Bid: GPS AS-BUILT SURVEY - First Offer	<b>Supplier Notes:</b> \$450,000.00	1 / lump	\$450,000.00
WC- 0876- -01-66	base blu. GF3 A3-BUILT SURVET - FITST OTHER	\$430,000.00	sum	\$430,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-67	Base Bid: COLOR AUDIO/VIDEO PRE & POST CONSTRUCTION - First Offer	\$10,000.00	1 / lump sum	\$10,000.00
Product		Supplier Product Code:		
Agency N OCWUT	Notes:  Base Bid: CONSTRUCTION STAKING - First Offer	<b>Supplier Notes:</b> \$150,000.00	1 / lump	\$150,000.00
	1.30 5.10			, .53/553.00

bid #OCWUT WC-0876 -Atoka Pipeline Raw Water

### City of Oklahoma City and its Trusts

a i ipellile i te	aw water	s Trusis		
WC- 0876- -01-68			sum	
		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-69	Base Bid: CONSTRUCTION TRAFFIC CONTROL - First Offer	\$27,000.00	1 / lump sum	\$27,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0876- -01-70	Base Bid: 10-INCH BLOW OFF ASSEMBLY EXTENSION COMPLETE (SEE SHEET C-001) - First Offer	, ,	1 / lump sum	\$150,000.00
Product Co Agency No		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$50,977,722.00

## City of Oklahoma City and its Trusts Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

#### Bid #26102 - Closed Circuit Television and Genetec Access Control

Creation Date **Jul 11, 2024** End Date **Aug 7, 2024 10:00:00 AM CDT** 

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

**Entech** \$1,492.00 (49/49 items) **Bid Contact Ronnie Robison** Address 3808 E. I-240 Service RD ronnie.robison@entechsales.com Oklahoma City, OK 73135 Ph 405-443-0379 Qualifications CS ARCH ENG The rates listed above will the standard 8:00-5:00 business rates. **Bid Notes Agency Notes: Supplier Notes:** The rates listed above will the standard 8:00-5:00 business rates. Item Line Item **Unit Price** Qty/Unit **Total Price** 26102-CCTV Installation and Services: Programming and or \$93.25 1 / hour \$93.25 -01-01 Assimilation - First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 26102-CCTV Installation and Services: Maintenance and or Service \$93.25 1 / hour \$93.25 -01-02 First Offer **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 26102-CCTV Installation and Services: Maintenance and or Service \$93.25 1 / hour \$93.25 -01-03 First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 26102 1 / hour CCTV Installation and Services: Installation - First Offer \$93.25 \$93.25 -01-04 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 26102-CCTV Installation and Services: Minimum Charge - First Offer 1 / each -01-05 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Lot Total: \$373.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 26102-1 / hour CCTV Installation and Services-Federal Pricing: Programming \$93.25 \$93.25 -02-01 and or Assimilation - First Offer **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** CCTV Installation and Services-Federal Pricing: Maintenance 26102-\$93.25 1 / hour \$93.25 -02-02 and or Service - First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 26102-CCTV Installation and Services-Federal Pricing: Maintenance \$93.25 1 / hour \$93.25 -02-03 and or Service - First Offer **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 

ision and	d Genetec its	s Trusts		
26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation - First Offer	\$93.25	1 / hour	\$93.25
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$373.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -03-02	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -04-01	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -04-02	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -06-01	Genetec Software Licensing-Federal Pricing: Genetec Security Center Yearly Software Licenses - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -07-01	CCTV Equipment and Cameras: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Product		Supplier Product Code:		
Agency		Supplier Notes:		
26102- -07-02	CCTV Equipment and Cameras: Catalog or Price List - First Offer		1 / each	15.00%
Product	t Code:	Supplier Product Code:		

# City of Oklahoma City and its Trusts Supplier Notes

Agency	Notes:	Supplier Notes:		
26102-	CCTV Equipment and Cameras: Catalog or Price List - First		1 / each	15.00%
-07-03	Offer			
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -07-04	CCTV Equipment and Cameras: Website - First Offer	15.00%	1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
26102-	CCTV Equipment and Cameras: Website - First Offer		1 / each	
-07-05 Produc		Supplier Product Code:		
Agency	Notes:	Supplier Notes:		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -08-01	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer		1 / each	15.00%
Produc Agency	t Code:	Supplier Product Code: Supplier Notes:		I
26102- -08-02	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer		1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -08-03	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Produc Agency	t Code:	Supplier Product Code: Supplier Notes:		
26102- -08-04	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer		1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -08-05	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -09-01	Genetec Access Control: Programming and or Assimilation - First Offer	\$93.25	1 / hour	\$93.25
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -09-02	Genetec Access Control: Maintenance and or Service - First Offer	· ·	1 / hour	\$93.25
Produc		Supplier Product Code:		
<b>Agency</b> 2610209-03	Genetec Access Control: Maintenance and or Service - First Offer	· ·	1 / hour	\$93.25
Produc	t Code:	Supplier Product Code:		
<b>Agency</b> 26102-	Genetec Access Control: Installation - First Offer	Supplier Notes: \$93.25	1 / hour	\$93.25
-09-04 Produc	t Codo:	Supplier Product Code:		
FIGUIC	t couc.	Supplier Product Code:		

Agency	Notes:	Supplier Notes:		
26102- -09-05	Genetec Access Control: Minimum Charge - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -09-06	Genetec Access Control: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -09-07	Genetec Access Control: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:	ı	
26102- -09-08	Genetec Access Control: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -09-09	Genetec Access Control: Website - First Offer	15.00%	1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:	<u> </u>	
26102- -09-10	Genetec Access Control: Website - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$373.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -10-01	Genetec Access Control-Federal Pricing: Programming and or Assimilation - First Offer	\$93.25	1 / hour	\$93.25
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -10-02	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer	\$93.25	1 / hour	\$93.25
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -10-03	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer	\$93.25	1 / hour	\$93.25
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -10-04	Genetec Access Control-Federal Pricing; Installation - First Offer	\$93.25	1 / hour	\$93.25
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -10-05	Genetec Access Control-Federal Pricing: Minimum Charge - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -10-06		15.00%	1 / each	15.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -10-07		15.00%	1 / each	15.00%

Product Agency		Supplier Product Code: Supplier Notes:		
26102- -10-08	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer		1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -10-09	Genetec Access Control-Federal Pricing: Website - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
26102- -10-10	Genetec Access Control-Federal Pricing: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$373.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -11-01	Attachments: Technical Questionnaire - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
26102- -11-02	Attachments: Federal FTA Contract Clauses / Attachments - First Offer		1 / each	
		Supplier Product Code: Supplier Notes:		
26102- -11-03	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00

Tricorps Surveillance \$1,906.00 (49/49 items)

Bid Contact Houston Tracy chadbradley@tricorps.com Ph 405-431-8845 Address **12312 Hidden Forest blvd oklahoma city , OK 73142** 

	Fax 405-621-9033			
Agency Notes: Supplier Notes:				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -01-01	CCTV Installation and Services: Programming and or Assimilation - First Offer		1 / hour	\$120.00
Product Agency		Supplier Product Code: Supplier Notes: Normal business hours, pro	ogramming	
26102- -01-02	CCTV Installation and Services: Maintenance and or Service - First Offer	\$105.00	1 / hour	\$105.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 2 hour response time, M-F,	8-5	

noion and	d Gonotoo no	,		
26102- -01-03	CCTV Installation and Services: Maintenance and or Service - First Offer	\$135.00	1 / hour	\$135.00
Product Agency		Supplier Product Code: Supplier Notes: 4 hour response time, after	normal busino	ess hours
26102- -01-04	CCTV Installation and Services: Installation - First Offer	\$98.00	1 / hour	\$98.00
Product Agency		Supplier Product Code: Supplier Notes: Installation, Normal Busines	ss Hours	
26102- -01-05	CCTV Installation and Services: Minimum Charge - First Offer		1 / each	
	Supplier Product Code: Supplier Notes:  1.5 hours minimum on service calls.			
Itama				<b>Lot Total:</b> \$458.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -02-01	CCTV Installation and Services-Federal Pricing: Programming and or Assimilation - First Offer		1 / hour	\$120.00
Product Agency		Supplier Product Code: Supplier Notes: Normal business hours, pro	ogramming	
26102- -02-02	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer		1 / hour	\$105.00
Product Agency		Supplier Product Code: Supplier Notes: 2 hour response time, M-F,	8-5	
	CCTV Installation and Services-Federal Pricing: Maintenance		1 / hour	\$135.00
26102- -02-03	and or Service - First Offer			

26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation - First Offer	\$98.00	1 / hour	\$98.00
Product Agency		Supplier Product Code: Supplier Notes: Installation, Normal Busine:	ss Hours	
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 1.5 hr minimum on service	calls	
				<b>Lot Total:</b> \$458.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes: 15% markup for all parts ar	d accessories.	
26102- -03-02	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency I		Supplier Product Code: Supplier Notes: 15% markup for all parts ar	nd accessories.	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -04-01	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency I		Supplier Product Code: Supplier Notes: 15% markup for all parts ar	nd accessories.	
26102- -04-02	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer	15.00%	1 / each	15.00%
Product Agency		Supplier Product Code: Supplier Notes: 15% markup for all parts ar	d accessories.	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer	5.00%	1 / each	5.00%
Product Agency I		Supplier Product Code: Supplier Notes:		

5% off MSRP **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 26102-5.00% Genetec Software Licensing-Federal Pricing: Genetec Security 5.00% 1 / each -06-01 Center Yearly Software Licenses - First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 5% off MSRP for Genetec Licensing. Lot Total: \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 26102-CCTV Equipment and Cameras: Catalog or Price List - First 12.00% 1 / each 12.00% -07-01 **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: 12% discount off MSRP Axis Communication Products 26102-CCTV Equipment and Cameras: Catalog or Price List - First 7.00% 1 / each 7.00% -07-02 **Product Code:** Supplier Product Code: **Agency Notes: Supplier Notes:** 7% discount off MSRP for Bosch Products 26102-CCTV Equipment and Cameras: Catalog or Price List - First 34.00% 1 / each 34.00% -07-03 Offer **Product Code:** Supplier Product Code: **Agency Notes: Supplier Notes:** 34% discount off MSRP for Hanwha Vision Products 26102-CCTV Equipment and Cameras: Website - First Offer 0.00% 1 / each 0.00% -07-04 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** N/A 26102-1 / each CCTV Equipment and Cameras: Website - First Offer

vision and	d Genetec its	s Trusts		
-07-05				
Product Agency		Supplier Product Code: Supplier Notes: N/A		
		ı		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -08-01	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	12.00%	1 / each	12.00%
Product Agency		Supplier Product Code: Supplier Notes: 12% discount off MSRP Axis	: Communicati	on Products
26102- -08-02	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	7.00%	1 / each	7.00%
Product Agency		Supplier Product Code: Supplier Notes: 7% discount off MSRP for Bo	osch Products	
26102- -08-03	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	34.00%	1 / each	34.00%
Product Agency		Supplier Product Code: Supplier Notes: 34% discount off MSRP for H	Hanwha Visior	ı Products.
26102- -08-04	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: Supplier Notes: N/A		
26102- -08-05	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: N/A		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -09-01	Genetec Access Control: Programming and or Assimilation - First Offer	\$120.00	1 / hour	\$120.00
Product Agency		Supplier Product Code: Supplier Notes: Programm	ning costs for G	Genetec, Normal Business Hours
26102- -09-02	Genetec Access Control: Maintenance and or Service - First Offer	· ·	1 / hour	\$135.00

vision and Genetec	s Trusts
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Maintenance & Service M-F, 8-5, 2 hour response time
26102- Genetec Access Control: Maintenance and or Service - First -09-03 Offer	\$120.00 1 / hour \$120.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Maintenance and service, 4 hour response time
26102- Genetec Access Control: Installation - First Offer	\$120.00 1 / hour \$120.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Genetec Access Control Installation, M-F, 8-5
26102- Genetec Access Control: Minimum Charge - First Offer -09-05	1 / each
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: N/A
26102- Genetec Access Control: Catalog or Price List - First Offer	5.00% 1 / each 5.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 5% discount off MSRP on all Genetec Products
26102- Genetec Access Control: Catalog or Price List - First Offer	5.00% 1 / each 5.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 5% discount off MSRP on all Genetec Products
26102- Genetec Access Control: Catalog or Price List - First Offer	5.00% 1 / each 5.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 5% discount off MSRP on all Genetec Products
26102- Genetec Access Control: Website - First Offer -09-09	5.00% 1 / each 5.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 5% discount off MSRP on all Genetec Products
26102- Genetec Access Control: Website - First Offer	1 / each
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: N/A
	<b>Lot Total:</b> \$495.00

violoti att	d Gerielec its	s Trusis		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -10-01	Genetec Access Control-Federal Pricing: Programming and or Assimilation - First Offer		1 / hour	\$120.00
Product Agency		Supplier Product Code: Supplier Notes: Programming costs for Gen	netec	
26102- -10-02	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer		1 / hour	\$135.00
Product Agency		Supplier Product Code: Supplier Notes: Maintenance & Service M-F	, 8-5, 2 hour re	sponse time
26102- -10-03	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer		1 / hour	\$120.00
Product Agency		Supplier Product Code: Supplier Notes: Maintenance and service, 4	hour response	e time
26102- -10-04	Genetec Access Control-Federal Pricing: Installation - First Offer		1 / hour	\$120.00
Product Agency		Supplier Product Code: Supplier Notes: Genetec Access Control Inst	tallation, M-F, 8	3-5
26102- -10-05	Genetec Access Control-Federal Pricing: Minimum Charge - First Offer		1 / each	
Agency		Supplier Product Code: Supplier Notes: N/A		
26102- -10-06	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer	5.00%	1 / each	5.00%
Product Agency		Supplier Product Code: Supplier Notes: 5% discount off MSRP on al	l Genetec Proc	lucts.
26102- -10-07	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer		1 / each	5.00%
Product Agency		Supplier Product Code: Supplier Notes: 5% discount off MSRP on al	l Genetec Proc	lucts.
26102- -10-08	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer		1 / each	5.00%
Product Agency		Supplier Product Code: Supplier Notes: 5% discount off MSRP on al	l Genetec Proc	lucts.
26102- -10-09	Genetec Access Control-Federal Pricing: Website - First Offer	5.00%	1 / each	5.00%

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 5% discount off MSRP on all Genetec Products.		
26102- -10-10	Genetec Access Control-Federal Pricing: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: N/A		
			I	<b>Lot Total:</b> \$495.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -11-01	Attachments: Technical Questionnaire - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: Technical Questionnaire att	ached.	
26102- -11-02	Attachments: Federal FTA Contract Clauses / Attachments - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: Federal FTA Clauses attache	ed.	
26102- -11-03	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: W9 and Letter of Authoriza	tion attached.	
				<b>Lot Total:</b> \$0.00

**Orion Security Solutions** \$2,090.00 (49/49 items)

Bid Contact **Richard Faught** 

sales@orionsecuritysolutions.com

Ph 405-990-3888

Orion Security Solutions holds a license in the State of Oklahoma for the installation and servicing of Access

Control and Video Management Systems. All Technicians hold State licensing also.

**Supplier Notes:** Orion Security Solutions holds a license in the State of **Agency Notes:** Oklahoma for the installation and servicing of Access Control and Video

Management Systems. All Technicians hold State licensing also.

Address 16232 Muirfield Place

**Edmond, OK 73013** 

Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102-	CCTV Installation and Services: Programming and or	\$110.00	1 / hour	\$110.00

		i i i usis		I
-01-01	Assimilation - First Offer			
Product Agency		Supplier Product Code: Supplier Notes: Profession and Genetec upgrades. Dur	al Service Gro	up (PSG), Special Programming, siness hours.
26102- -01-02 <b>Product</b>	CCTV Installation and Services: Maintenance and or Service - First Offer	\$125.00 Supplier Product Code:	1 / hour	\$125.00
26102- -01-03	CCTV Installation and Services: Maintenance and or Service - First Offer	\$187.50	1 / hour	\$187.50
Product Agency		Supplier Product Code: Supplier Notes: Service Cal	ls - After Hour	s and Weekends.
26102- -01-04	CCTV Installation and Services: Installation - First Offer	\$100.00	1 / hour	\$100.00
Product Agency		Supplier Product Code: Supplier Notes: Installation	n labor rates d	uring normal business hours

ision an	u Genetec its			
26102- -01-05	CCTV Installation and Services: Minimum Charge - First Offer		1 / each	
Product	r Code.	Supplier Product Code:		
Agency		Supplier Notes: 2 Hour min	nimum	
				<b>Lot Total:</b> \$522.50
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -02-01	CCTV Installation and Services-Federal Pricing: Programming and or Assimilation - First Offer	\$110.00	1 / hour	\$110.00
Product Agency		Supplier Product Code: Supplier Notes: PSG, Speci	al Programmi	ng, Genetec Upgrades
26102- -02-02	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer	\$125.00	1 / hour	\$125.00
Product Agency		Supplier Product Code: Supplier Notes: Service Ca	ll hourly rate c	during normal business hours.
26102- -02-03	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer	\$187.50	1 / hour	\$187.50
Product Agency		Supplier Product Code: Supplier Notes: Service Ca	lls - After Hour	rs and Weekends.
26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation - First Offer	\$100.00	1 / hour	\$100.00
Product		Supplier Product Code:		
Agency		Supplier Notes: Installation		normal business hours.
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 2 Hour mi	mimum	
		I	I	<b>Lot Total:</b> \$522.50
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	10.00%	1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP,	Graybar and/	or Anixter
26102- -03-02	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	10.00%	1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP	- Graybar and	/or Anixter
Jy				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102-	Additional Parts and Pieces-Federal Pricing: Additional Parts	10.00%	1 / each	10.00%

-04-01	and Accessories - First Offer			
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP		
26102- -04-02	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer	10.00%	1 / each	10.00%
Product Agency	t Code: Notes:	Supplier Product Code: Supplier Notes: Off MSRP		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer		1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP		
<u> </u>				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -06-01	Genetec Software Licensing-Federal Pricing: Genetec Security Center Yearly Software Licenses - First Offer		1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: OFF MSRP		
Item	Line Item	Unit Price	Qty/Unit	
	Line Item  CCTV Equipment and Cameras: Catalog or Price List - First Offer	10.00%	Qty/Unit 1 / each	Lot Total: \$0.00  Total Price 10.00%

26102- -07-02	CCTV Equipment and Cameras: Catalog or Price List - Firs Offe	t 10.00%	1 / each	10.00%
Product Agency	Code:	Supplier Product Code: Supplier Notes: Bosch Can	neras - Off MS	T RP

26102- -07-03	CCTV Equipment and Cameras: Catalog or Price List - First Offer	5.00%	1 / each	5.00%
		Supplier Plotos: Discounts	off the MCDD f	from various camora
Product Co Agency No		Supplier Product Code: Supplier Notes: Discounts manufacturers that are ava	off the MSRP f	From various camera OSS.
26102-	CCTV Equipment and Cameras: Website - First Offer	0.00%	1 / each	0.00%
-07-04				L
Product Co Agency No		Supplier Product Code: Supplier Notes: N/A		

26102-	CCTV Equipment and Cameras: Website - First Offer		1 / each		
-07-05	Cerv Equipment and Cameras. Website This Offer		17 cacii		
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes: N/A			
				<b>Lot Total:</b> \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -08-01	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Product Code:			
Agency	Notes:	Supplier Notes: Hanwha - Off MSRP			
26102- -08-02	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	10.00%	1 / each	10.00%	
	t Code:	Supplier Product Code:			
Agency	T	Supplier Notes: Bosch - Of			
26102- -08-03	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	10.00%	1 / each	10.00%	
Produc Agency		Supplier Product Code: Supplier Notes: Discounts manufacturers that are ava			
26102- -08-04	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer	0.00%	1 / each	0.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: N/A			
26102- -08-05	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer		1 / each		
Produc Agency		Supplier Product Code: Supplier Notes: N/A			
				<b>Lot Total:</b> \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -09-01	Genetec Access Control: Programming and or Assimilation - First Offer	\$110.00	1 / hour	\$110.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PSG, Special Programming, and Genetec system upgrades. During normal business hours.			
26102- -09-02	Genetec Access Control: Maintenance and or Service - First Offer	\$125.00	1 / hour	\$125.00	
Produc Agency		Supplier Product Code: Supplier Notes: Service Calls during normal business hours.			
26102-			1 / hour	\$187.50	
-09-03	Offer				

	id Geriotob	7 114313			
		Supplier Product Code: Supplier Notes: Service Calls - After Hours and Weekends.			
26102- -09-04	Genetec Access Control: Installation - First Offer	\$100.00	1 / hour	\$100.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Installation during normal business hours.			
26102- -09-05			1 / each		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 2 Hour minimum.			
26102- -09-06	Genetec Access Control: Catalog or Price List - First Offer	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Off MSRP - MSRP price guide will be provided after the award.			
26102- -09-07	Genetec Access Control: Catalog or Price List - First Offer	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Off MSRP - MSRP price guide will be provided after the award.			
26102- -09-08	Genetec Access Control: Catalog or Price List - First Offer	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Off MSRP - MSRP price guide will be provided after the award.			
26102- -09-09	Genetec Access Control: Website - First Offer	0.00%	1 / each	0.00%	
		Supplier Product Code: Supplier Notes: N/A			
26102- -09-10	Genetec Access Control: Website - First Offer		1 / each		
Produc Agency		Supplier Product Code: Supplier Notes: N/A			
				<b>Lot Total:</b> \$522.50	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -10-01	Genetec Access Control-Federal Pricing: Programming and or Assimilation - First Offer	\$110.00	1 / hour	\$110.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PSG, Special Programming, and Genetec upgrades			
26102-		\$125.00	1 / hour	\$125.00	
-10-02	Service - First Offer				
Produc	t Code:	Supplier Product Code: Supplier Notes: Service Ca	   s during norn	nal business hours.	
	t Code:	1	lls during norn	nal business hours. \$187.50	
Product Agency 26102-	t Code:  Notes:  Genetec Access Control-Federal Pricing: Maintenance and or  Service - First Offer  tt Code:	Supplier Notes: Service Ca	1 / hour	\$187.50	
Product Agency 26102- -10-03 Product	denetec Access Control-Federal Pricing: Maintenance and or Service - First Offer to Code:  Notes:	Supplier Notes: Service Ca \$187.50 Supplier Product Code:	1 / hour	\$187.50	
Product Agency 26102- -10-03 Product Agency	definition of the control of the con	\$187.50  Supplier Product Code: Supplier Notes: Service Ca	1 / hour	\$187.50 s and Weekends. \$100.00	

-10-05	First Offer			
Product		Supplier Product Code:		
Agency	Notes:	Supplier Notes: 2 Hour mi	mimum	
26102- -10-06	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer	10.00%	1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP award.	- OSS will provi	de the MSRP price list after
26102- -10-07	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer	10.00%	1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP award.	- OSS will provi	de the MSRP price list after
26102- -10-08	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer	10.00%	1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Off MSRP award.	- OSS will provi	de the MSRP price list after
26102- -10-09	Genetec Access Control-Federal Pricing: Website - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: Supplier Notes: N/A		
26102- -10-10	Genetec Access Control-Federal Pricing: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: N/A		
Agency		Supplier Product Code: Supplier Notes: N/A		
				<b>Lot Total:</b> \$522.50
			Qty/Unit	
Agency	Notes:	Supplier Notes: N/A  Unit Price	<b>Qty/Unit</b> 1 / each	
Item # 26102- -11-01 Product	Line Item  Attachments: Technical Questionnaire - First Offer	Supplier Notes: N/A  Unit Price		
Item # 26102- -11-01 Product Agency 26102-	Line Item  Attachments: Technical Questionnaire - First Offer	Unit Price  Supplier Product Code: Supplier Notes:		
Item # 2610211-01 Product Agency 2610211-02 Product	Line Item  Attachments: Technical Questionnaire - First Offer  t Code: Notes:  Attachments: Federal FTA Contract Clauses / Attachments - First Offer  t Code:	Unit Price  Supplier Product Code: Supplier Notes:  Supplier Product Code:	1 / each	
Item # 26102- -11-01 Product Agency 26102- -11-02 Product Agency 26102-	Line Item  Attachments: Technical Questionnaire - First Offer  t Code: Notes:  Attachments: Federal FTA Contract Clauses / Attachments - First Offer  t Code:	Unit Price  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:	1 / each	
Item # 26102- -11-01 Product Agency 26102- -11-02 Product Agency	Line Item  Attachments: Technical Questionnaire - First Offer  t Code: Notes:  Attachments: Federal FTA Contract Clauses / Attachments - First Offer  t Code: Notes:  Attachments: W-9 - First Offer	Unit Price  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:	1 / each	Lot Total: \$522.50  Total Price

Turn-Key Security Solutions, LLC.

Bid Contact Norman Ruud

norman@tkssllc.com

Ph 157-361-9177

\$2,300.00 (49/49 items)

Address **4510 Country Club Drive Jefferson City, MO 65109** 

Agency	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- ·01-01	CCTV Installation and Services: Programming and or Assimilation - First Offer	\$200.00	1 / hour	\$200.00
Product Agency	Notes:	Supplier Product Code: Supplier Notes: This include services. Travel time will be be		e and in-person installation and 0 per hour.
	CCTV Installation and Services: Maintenance and or Service	\$125.00	1 / hour	\$125.00
01-02	- First Offer	Supplier Product Code:		
Agency	Notes:	Supplier Notes: Travel time	is also billed at	t \$125.00 per hour.

26102- C0	CTV Installation and Services: Maintenance and or Service - First Offer		1 / hour	\$125.00
Product Co Agency No	ode:	Supplier Product Code: Supplier Notes: Travel time	is also billed a	t \$125.00 per hour.
26102- -01-04	CCTV Installation and Services: Installation - First Offer	\$125.00	1 / hour	\$125.00
Product Co Agency No	otes:	Supplier Product Code: Supplier Notes: Travel time		t \$125.00 per hour.
26102- -01-05	CCTV Installation and Services: Minimum Charge - First Offer		1 / each	
Product Co Agency No		Supplier Product Code: Supplier Notes: 2-hour mini calls.	imum charge f	or on-site installation and Service

Item	Line Item		Unit Price	Qty/Unit	Lot Total: \$575.00  Total Price
<b>#</b> 26102-		ation and Services-Federal Pricing:		1 / hour	\$200.00
Product Agency	Code: Notes:	ng and or Assimilation - First Offer	Supplier Product Code: Supplier Notes: Travel time	will be billed a	t \$125.00 per hour.
Product Agency	Maint	enance and or Service - First Offer			

26102- -02-03	CCTV Installation and Services-Federal Pricing Maintenance and or Service - First Offer	\$125.00	1 / hour	\$125.00
Product		Supplier Product Code: Supplier Notes: Travel time	will be billed a	t \$125.00 per hour.
26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation - First Offer		1 / hour	\$125.00
Product Agency		Supplier Product Code: Supplier Notes: Travel time	will be billed a	t \$125.00 per hour
				C4125100 pci 110u11
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge - First Offer		1 / each	C4 125100 pci 110411

				<b>Lot Total:</b> \$575.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer		1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: 10% off MS	RP	
26102- -03-02	Additional Parts and Pieces: Additional Parts and Accessories - First Offer		1 / each	10.00%
Product Agency	t Code:	Supplier Product Code: Supplier Notes: 10% off MSRP		

ltem				Lot Total: \$0.00
t	Line Item	Unit Price	Qty/Unit	Total Price
26102- 04-01	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer		1 / each	10.00%
	Code: Notes:	Supplier Product Code: Supplier Notes:  10% off MSRP		
26102- 04-02	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer		1 / each	10.00%
	Code: Notes:	Supplier Product Code: Supplier Notes:		
tem				Lot Total: \$0.00
:	Line Item	Unit Price	Qty/Unit	Total Price
26102- 05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer		1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: 10% off MSRP		

				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -06-01	Genetec Software Licensing-Federal Pricing: Genetec Security Center Yearly Software Licenses - First Offer		1 / each	15.00%
Product		Supplier Product Code: Supplier Notes: 15% off MSRP		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -07-01	CCTV Equipment and Cameras: Catalog or Price List - First Offer	25.00%	1 / each	25.00%
Product Agency		Supplier Product Code: Bos Supplier Notes: 25% off MS	sch Products RP	

26102- CCTV Equipment and Cameras: Catalog or Price List - First -07-02 Offer	0.00% 1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: Axis Products Supplier Notes: at MSRP	
26102- CCTV Equipment and Cameras: Catalog or Price List - First -07-03 Offer	0.00% 1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: IPRO Products Supplier Notes: at MSRP	

26102-  -07-04   CCTV Equipment and Cameras: Website - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:	Supplier Product Code: Han Supplier Notes: 15% off MSF		
26102- CCTV Equipment and Cameras: Website - First Offer		1 / each	
-07-05 Product Code:	Supplier Product Code:		
Agency Notes:	Supplier Notes: https://hanvcameras/ https://commerce.boschsecuhttps://www.axis.com/produc	ırity.com/us/e cts/network-c	ameras en/surveillance/products/network-
Maria I in a linear	11 11 71 71	On-01-**	Lot Total: \$0.00
Item Line Item	Unit Price	Qty/Unit	Total Price

vision and	I Genetec	its Trusts			
#					
26102- -08-01	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	25.00%	1 / each	2	25.00%
Product Agency		Supplier Notes: 25% off MS	sch Products RP		
26102- -08-02	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer		1 / each		0.00%
Agency		Supplier Product Code: Axis Supplier Notes: At MSRP			

26102- -08-03	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer	0.00%	1 / each	0.00%
Product Agency	Code:	Supplier Product Code: IPR Supplier Notes: At MSRP	O Products	
26102-	CCTV Equipment and Cameras-Federal Pricing: Website -	15.00%	1 / each	15.00%

-08-04	First C	Offer			
Product	Code:		Supplier Product Code: Har	nwha Products	
Agency			Supplier Notes: 15% off MS	RP	
			••		
25122					
26102-	CCTV Equipment and Cameras-Federal Pricing: Webs	site -		1 / each	
-08-05	First C	Offer			
Product	Code:		Supplier Product Code:		
Agency	Notes:		Supplier Notes: Request a c	uote for pricin	g.
			i e e e e e e e e e e e e e e e e e e e		

				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -09-01	Genetec Access Control: Programming and or Assimilation - First Offer	\$200.00	1 / hour	\$200.00
Agency		Supplier Notes: Travel time		
26102- -09-02	Genetec Access Control: Maintenance and or Service - First Offer	\$125.00	1 / hour	\$125.00
Product Agency	I	Supplier Product Code: Supplier Notes: Travel time	is billed at \$125.00 per	hour

	Genetec Access Control: Maintenance and or Service - First		1 / hour	\$125.00
26102- -09-03 Product Agency	Offer Code:			\$125.00
26102-	Genetec Access Control: Installation - First Offer	\$125.00	1 / hour	\$125.00
-09-04 Product		Supplier Product Code:		
Agency		Supplier Notes: Travel time		Sido per riodi.
26102- -09-05	Genetec Access Control: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 2 hour mini	mum	

evision and Genetec	its Trusts		
26102- Genetec Access Control: Catalog or Price List - First Offer -09-06	15.00%	1 / each	15.00%
Agency Notes:	Supplier Product Code: Supplier Notes: 15% off MSI		
26102- -09-07 Genetec Access Control: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: See above 1	5% off MSRP	
26102- -09-08 Genetec Access Control: Catalog or Price List - First Offer	15.00%	1 / each	15.00%
Agency Notes:	Supplier Product Code: Supplier Notes: See above 15% off MSRP		

Product Code: Agency Notes:    Supplier Product Code:   Supplier Notes:   Supplier N	vision and	d Genetec	its Trusts		
Agency Notes:    26102		Genetec Access Control: Website - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:    Supplier Product Code: Supplier Notes:   https://www.genetec.com/products/unified-security/synergis			Supplier Notes: https://www.genetec.com/pr	roducts/unified	d-security/synergis
Agency Notes:    Supplier Notes: https://www.genetec.com/products/unified-security/synergis		Genetec Access Control: Website - First Offer		1 / each	
Line   Item #   Line   Item   Unit Price   Qty/Unit   Total Pri			Supplier Notes:	roducts/unified	
2610210-01 Genetec Access Control-Federal Pricing: Programming and or Assimilation - First Offer  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes: This includes both remote and in-person installation and services. Travel time will be billed at \$125.00 per hour.  2610210-02 Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer  Product Code: Supplier Product Code:  \$\frac{1}{2} \text{ hour} \text{ \$\$125.00 } \text{ \$\$1 \text{ hour} \text{ \$\$\$125.00 } \text{ \$\$1 \text{ hour} \text{ \$\$\$\$}\$	Item	l ine Item	Unit Price	Oty/Unit	
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:  This includes both remote and in-person installation and services. Travel time will be billed at \$125.00 per hour.  2610210-02  Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer  Product Code:  Supplier Product Code:  Supplier Product Code:  Supplier Product Code:	26102-	Genetec Access Control-Federal Pricing: Programming and	\$200.00	-	\$200.00
-10-02 or Service - First Offer  Product Code: Supplier Product Code:			<b>Supplier Notes:</b> This includes both remote ar		nstallation and services. Travel
				1 / hour	\$125.00
	1			will be billed a	t \$125.00 per hour.

26102- -10-03	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer		1 / hour	\$125.00
Product Agency	Code:	Supplier Product Code: Supplier Notes: Travel time	will be billed a	t \$125.00 per hour.
26102- -10-04	Genetec Access Control-Federal Pricing: Installation - First Offer		1 / hour	\$125.00
Product		Supplier Product Code:		I.
Agency		Supplier Notes: Travel time	will be billed a	t \$125.00 per hour.
26102- -10-05	Genetec Access Control-Federal Pricing: Minimum Charge - First Offer		1 / each	
Product Agency	Notes:	Supplier Product Code: Supplier Notes: 2-hour minimum	1 / each	15.00%
-10-06	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer		17 Cacii	15.0070
Product Agency		Supplier Product Code: Supplier Notes: 15% off MS	RP	

26102- Genetec Access 0	Control-Federal Pricing: Catalog or Price List - First Offer	0.00%	1 / each	0.00%
Product Code:	List Tillst Girel	Supplier Product Code:		l
Agency Notes:		Supplier Notes: N/A - see at	oove	
26102- Genetec Access 0 -10-08	Control-Federal Pricing: Catalog or Price List - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: N/A - see ab	pove	
26102- Genetec Access	s Control-Federal Pricing: Website - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: See attache	d price list - 15	% off MSRP
26102- -10-10 Genetec Access	s Control-Federal Pricing: Website - First Offer		1 / each	
		Supplier Product Code: N/A Supplier Notes: Pricing is no	<u> </u> 	ough a website.
Product Code:		Supplier Product Code: N/A	<u> </u> 	
Product Code: Agency Notes:		Supplier Product Code: N/A	<u> </u> 	ough a website.  Lot Total: \$575.00  Total Price
-10-10  Product Code: Agency Notes:  Item # Line Item		Supplier Product Code: N/A Supplier Notes: Pricing is no	ot available thr	<b>Lot Total:</b> \$575.00

8/7/2024

Agency Notes:	Supplier Notes: Technician Certifications David Kelley Craig Bock Letter of Authorization
26102-   Attachments: Federal FTA Contract Clauses / Attachments11-02   First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
26102- -11-03 Attachments: W-9 - First Offer	1 / each
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
	Lot Total: \$0.00

#### **Convergint Technologies LLC**

\$2,412.68 (49/49 items)

Bid Contact **Tad Johnson**tad.johnson@convergint.com
Ph 405-830-5021

Address **OKLAHOMA CITY, OK 73127** 

	Ph 405-830-502 I				
Agency	Notes:	Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -01-01	CCTV Installation and Services: Programming and or Assimilation - First Offer		1 / hour	\$125.66	
Product Agency		Supplier Product Code: Supplier Notes:			
26102- -01-02	CCTV Installation and Services: Maintenance and or Service - First Offer	\$188.49	1 / hour	\$188.49	
Product Agency		Supplier Product Code: Supplier Notes:			
26102- -01-03	CCTV Installation and Services: Maintenance and or Service - First Offer	\$188.49	1 / hour	\$188.49	
Product Agency	<del> </del>	Supplier Product Code: Supplier Notes:			
26102- -01-04	CCTV Installation and Services: Installation - First Offer	\$100.53	1 / hour	\$100.53	
Product Agency		Supplier Product Code: Supplier Notes:			
26102-	CCTV Installation and Services: Minimum Charge - First Offer		1 / each		

vision an	d Genetec its	rusts		
-01-05				
Product		Supplier Product Code: Supplier Notes: 1 hour mir		
				<b>Lot Total:</b> \$603.17
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -02-01	CCTV Installation and Services-Federal Pricing: Programming and or Assimilation - First Offer		1 / hour	\$125.66
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-02	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer	\$188.49	1 / hour	\$188.49
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-03	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer	\$188.49	1 / hour	\$188.49
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation - First Offer	\$100.53	1 / hour	\$100.53
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 1 hour mir	1	
				<b>Lot Total:</b> \$603.17
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	27.00%	1 / each	27.00%

-06-01 <b>Produc</b>	Line Item  Genetec Software Licensing-Federal Pricing: Genetec Security Center Yearly Software Licenses - First Offer t Code: Notes:		Qty/Unit  1 / each  recentage disco	Lot Total: \$0.00  Total Price  10.00%  unt off MSRP
#				Total Price
Item				
Produc Agency	t Code:  Notes:	Supplier Product Code: Supplier Notes: Percentage	e mark up fror	n cost
26102- -05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer	27.00%	1 / each	27.00%
Item #	Line Item	Unit Price	Qty/Unit	Total Price
Agency	Notes:	Supplier Notes:		<b>Lot Total:</b> \$0.00
-04-02 Produc		Supplier Product Code:		
<b>Agency</b> 26102-	Additional Parts and Pieces-Federal Pricing: Additional Parts	Supplier Notes: 27.00%	1 / each	27.00%
26102- -04-01 <b>Produc</b>	and Accessories - First Offer t Code:	27.00%  Supplier Product Code:	1 / each	27.00%
Item #	Line Item	Unit Price	Qty/Unit	Total Price
				Lot Total: \$0.00
Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:		
Produc	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	27.00%	1 / each	27.00%
	Notes:	Supplier Notes:		

vision and		Tiusis		
#				
26102- -07-01	CCTV Equipment and Cameras: Catalog or Price List - First Offer	20.00%	1 / each	20.00%
Product (	lotes:	Supplier Product Code: Supplier Notes: Hanwha Pr		
26102- -07-02	CCTV Equipment and Cameras: Catalog or Price List - First Offer		1 / each	10.00%
Product (Agency N		Supplier Product Code: Supplier Notes: Axis Pricing	3	
26102- -07-03	CCTV Equipment and Cameras: Catalog or Price List - First Offer	5.00%	1 / each	5.00%
Product ( Agency N		Supplier Product Code: Supplier Notes: Bosch Prici	ng	

vision and	d Genetec its	s Trusts		
26102- -07-04	CCTV Equipment and Cameras: Website - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: Supplier Notes: No Website	e pricing availa	able
26102- -07-05	CCTV Equipment and Cameras: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: No Website	e available	
				Lot Total: \$0.00
Item	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00  Total Price
	Line Item  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer		<b>Qty/Unit</b> 1 / each	
<b>#</b> 26102-	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer t Code:		1 / each	Total Price
# 26102- -08-01 <b>Product</b>	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer t Code:	20.00%  Supplier Product Code: Supplier Notes: Hanwha Product 10.00%	1 / each	Total Price
# 26102- -08-01 <b>Product</b> <b>Agency</b> 26102-	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer t Code:  Notes:  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer t Code:	20.00%  Supplier Product Code: Supplier Notes: Hanwha Product 10.00%	1 / each	Total Price
# 26102- -08-01 Product Agency 26102- -08-02 Product	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer t Code:  Notes:  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer t Code:	20.00%  Supplier Product Code: Supplier Notes: Hanwha Product Code: Supplier Product Code: Supplier Notes: Axis Pricing  5.00%	1 / each	Total Price 20.00%
# 26102- -08-01 Product Agency 26102- -08-02 Product Agency	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer  t Code: Notes:  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer  t Code: Notes:  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer  t Code: Notes:	20.00%  Supplier Product Code: Supplier Notes: Hanwha Product Code: Supplier Product Code: Supplier Notes: Axis Pricing  5.00%	1 / each ricing 1 / each	Total Price 20.00%
# 2610208-01  Product Agency  2610208-02  Product Agency  2610208-03  Product Agency	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer  t Code: Notes:  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer  t Code: Notes:  CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List - First Offer  t Code: Notes:	20.00%  Supplier Product Code: Supplier Notes: Hanwha Product Code: Supplier Product Code: Supplier Notes: Axis Pricing  5.00%  Supplier Product Code: Supplier Product Code: Supplier Notes: Bosch Pricing	1 / each ricing 1 / each	Total Price 20.00%

vision an	d Genetec its	s Trusts		
26102- -08-05	CCTV Equipment and Cameras-Federal Pricing: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: No Websit	e	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -09-01	Genetec Access Control: Programming and or Assimilation - First Offer	\$125.66	1 / hour	\$125.66
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -09-02	Genetec Access Control: Maintenance and or Service - First Offer		1 / hour	\$188.49
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -09-03	Genetec Access Control: Maintenance and or Service - First Offer	· ·	1 / hour	\$188.49
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -09-04	Genetec Access Control: Installation - First Offer	\$100.53	1 / hour	\$100.53
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -09-05	Genetec Access Control: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 1 hour mir	ו	
26102- -09-06	Genetec Access Control: Catalog or Price List - First Offer	10.00%	1 / each	10.00%
Product Agency		Supplier Product Code: Supplier Notes: Genetec P	ricing	
26102-	Genetec Access Control: Catalog or Price List - First Offer	20.00%	1 / each	20.00%

-09-07				
Product Agency		Supplier Product Code: Supplier Notes: Seclock Pr	cing	
26102- -09-08	Genetec Access Control: Catalog or Price List - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: Supplier Notes: No additio	nal price lists	
26102- -09-09	Genetec Access Control: Website - First Offer	20.00%	1 / each	20.00%
Product Agency		Supplier Product Code: Supplier Notes: seclock.co	m	
26102- -09-10	Genetec Access Control: Website - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: No website	e available	
				<b>Lot Total:</b> \$603.17
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -10-01	Genetec Access Control-Federal Pricing: Programming and or Assimilation - First Offer	\$125.66	1 / hour	\$125.66
Product Agency		Supplier Product Code: Supplier Notes:		
		• •		
26102- -10-02	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer	\$188.49	1 / hour	\$188.49
	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer t <b>Code:</b>		1 / hour	\$188.49
-10-02 <b>Product</b>	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer t <b>Code:</b>	\$188.49  Supplier Product Code:	1 / hour	\$188.49 \$188.49
-10-02 Product Agency 26102-	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer Code: Notes: Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer	\$188.49  Supplier Product Code: Supplier Notes:		
Product Agency 26102- -10-03 Product	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer Code: Notes: Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer	\$188.49  Supplier Product Code: Supplier Notes:  \$188.49  Supplier Product Code:		
-10-02 <b>Product</b> <b>Agency</b> 26102- -10-03 <b>Product</b> <b>Agency</b> 26102- -10-04 <b>Product</b>	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer  t Code: Notes: Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer  t Code: Notes: Genetec Access Control-Federal Pricing: Installation - First Offer  t Code:	\$188.49  Supplier Product Code: Supplier Notes:  \$188.49  Supplier Product Code: Supplier Notes:  \$100.53  Supplier Product Code:	1 / hour	\$188.49
-10-02 <b>Product</b> <b>Agency</b> 26102- -10-03 <b>Product</b> <b>Agency</b> 26102- -10-04	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer  t Code: Notes: Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer  t Code: Notes: Genetec Access Control-Federal Pricing: Installation - First Offer  t Code:	\$188.49  Supplier Product Code: Supplier Notes:  \$188.49  Supplier Product Code: Supplier Notes:  \$100.53	1 / hour	\$188.49

Agency	Notes:	Supplier Notes: 1 hour mir	ו	
26102-	Genetec Access Control-Federal Pricing: Catalog or Price List -	10.00%	1 / each	10.00%
-10-06	First Offer	10.0070	17 Each	10.00%
Produc		Supplier Product Code:		
Agency		Supplier Notes: Genetec P	ricing	
			C	
26102-	Genetec Access Control-Federal Pricing: Catalog or Price List -	20.00%	1 / each	20.00%
-10-07	First Offer			
Product		Supplier Product Code:		
Agency	Notes:	Supplier Notes: Seclock Pri	icing	
26102- -10-08	Genetec Access Control-Federal Pricing: Catalog or Price List - First Offer	0.00%	1 / each	0.00%
Product Agency		Supplier Product Code: Supplier Notes: No addition	nal Catalogs	
Agency	Notes.	Supplier Notes. No additio	riai Catalogs	
26102- -10-09	Genetec Access Control-Federal Pricing: Website - First Offer	20.00%	1 / each	20.00%
Product		Supplier Product Code: Supplier Notes: Seclock.co	m	
Agency	Notes.	Supplier Notes: Seciock.co	[[]	
26102-	Genetec Access Control-Federal Pricing: Website - First Offer		1 / each	
-10-10				
Product		Supplier Product Code:		·nn
Agency	Notes:	Supplier Notes: Seclock is	percent off MS	KP .
1				

				<b>Lot Total:</b> \$603.17
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -11-01	Attachments: Technical Questionnaire - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: Genetec Certifications		
26102- -11-02	Attachments: Federal FTA Contract Clauses / Attachments - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: FTA attachment		
26102- -11-03	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: W9, Vendo	or Registration	and COI
				<b>Lot Total:</b> \$0.00

HQE Systems, Inc. \$1,107.92 (45/49 items)

Bid Contact **Desiree Carr** 

info@hqesystems.com

Ph 800-967-3036

Qualifications **MBE** 

Address **42072 5th St. Suite 205 Temecula, CA 92590** 

Agency	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -01-01	CCTV Installation and Services: Programming and or Assimilation - First Offer	\$65.39	1 / hour	\$65.39
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -01-02	CCTV Installation and Services: Maintenance and or Service - First Offer	\$73.23	1 / hour	\$73.23
Product Agency		Supplier Product Code: Supplier Notes:		
26102-	CCTV Installation and Services: Maintenance and or Service -	\$79.77	1 / hour	\$79.77

-01-03	First Offer			
Product		Supplier Product Code:		
Agency	Notes:	Supplier Notes:		
26102- -01-04	CCTV Installation and Services: Installation - First Offer	\$58.59	1 / hour	\$58.59
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -01-05	CCTV Installation and Services: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 2 hour mir	nimum charge	

Lot Total: \$276.98

				<b>Lot Total:</b> \$276.98
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -02-01	CCTV Installation and Services-Federal Pricing: Programming and or Assimilation - First Offer		1 / hour	\$65.39
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -02-02	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer	\$73.23	1 / hour	\$73.23
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-03	CCTV Installation and Services-Federal Pricing: Maintenance and or Service - First Offer	\$79.77	1 / hour	\$79.77
Produc Agency		Supplier Product Code: Supplier Notes:		
26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation - First Offer	\$58.59	1 / hour	\$58.59
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 2 hour min	nimum charge	

				<b>Lot Total:</b> \$276.98
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	11.25%	1 / each	11.25%
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -03-02	Additional Parts and Pieces: Additional Parts and Accessories - First Offer	11.25%	1 / each	11.25%
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -04-01	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer		1 / each	11.25%

Product Agency		Supplier Product Code: Supplier Notes:		
26102- -04-02	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories - First Offer	11.25%	1 / each	11.25%
Product Agency		Supplier Product Code: Supplier Notes:	ı	
3 ,		Lot Total: \$0.00		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer		1 / each	47.00%
Product		Supplier Product Code: Supplier Notes: HQE is offe as per the attached pricing		discount off of Genetec products

vision an	d Genetec its	Trusts		
				<b>Lot Total:</b> \$0.00
Item				LOC TOTAL \$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
26102-	Genetec Software Licensing-Federal Pricing: Genetec Security	47.00%	1 / each	47.00%
-06-01	Center Yearly Software Licenses - First Offer	<del> </del>		
Produc		Supplier Product Code:		
Agency	Notes:	Supplier Notes: HQE is offering a 0-47% disc	count off of Ge	enetec products as per the
		attached pricing sheet.	count on or de	rictee products as per the

Item				<b>Lot Total:</b> \$0.00
tem	Line Item	Unit Price	Qty/Unit	Total Price
6102- 7-01	CCTV Equipment and Cameras: Catalog or Price List - First Offer		1 / each	37.00%
		Supplier Product Code: Supplier Notes: HQE is offering a 37% disco pricing sheet.	unt off of Hanwha រុ	products as per the attache
5102-	CCTV Equipment and Cameras: Catalog or Price List - First		1 / each	15.009
7-02	Offer			
	Notes:	<b>Supplier Product Code: Supplier Notes:</b> HQE is offer the attached pricing sheet.	ering a 15% discour	nt off of Axis products as pe

				<b>Lot Total:</b> \$0.00
Item	Line Item	Unit Price	Qty/Unit	Total Price
#		Office		TotalTrice
26102-	CCTV Equipment and Cameras-Federal Pricing: Catalog or	37.00%	1 / each	37.00%

Price List - First Offer

Product Code:

Agency Notes:

-08-01

Supplier Product Code:

#### Supplier Notes:

HQE is offering a 37% discount off of Hanwha products as per the attached pricing sheet.

26102- CCTV Equipment and Cameras-Federal Pricing: Catalog or -08-02 Price List - First Offer	15.00%	1 / each	15.00%
-08-02 Price List - First Offer  Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		products as per the attached
26102- CCTV Equipment and Cameras-Federal Pricing: Catalog or		1 / each	47.00%
-08-03 Price List - First Offer  Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: HQE is offering a 0-47% discattached pricing sheet.	count off of Ge	enetec products as per the

bid #2 Televi	26102 - 0 ision an	Closed Circuit d Genetec	City of Okl its	ahoma City and Trusts		
	26102- -08-04	CCTV Equipment and Cameras-Federal Pricing: W	Vebsite			No Bids
-	-08-04	CCTV Equipment and Cameras-Federal Pricing: W	Vebsite	Supplier Product Code: Supplier Notes:		No Bids
	-08-04 <b>Agency</b>			Supplier Notes:	1 / each	No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:	ebsite - First	Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids
-	-08-04 <b>Agency</b> 2610208-05 <b>Product</b>	Notes:  CCTV Equipment and Cameras-Federal Pricing: West Code:	ebsite - First	Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids

				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -09-01	Genetec Access Control: Programming and or Assimilation - First Offer	\$65.39	1 / hour	\$65.39
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -09-02	Genetec Access Control: Maintenance and or Service - First Offer		1 / hour	\$73.23
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -09-03	Genetec Access Control: Maintenance and or Service - First Offer		1 / hour	\$79.77
Product Agency		Supplier Product Code: Supplier Notes:		
26102- -09-04	Genetec Access Control: Installation - First Offer	\$58.59	1 / hour	\$58.59
Produc		Supplier Product Code: Supplier Notes:		
26102- -09-05	Genetec Access Control: Minimum Charge - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes: 2 hour minimum charge		

26102- Genetec Access Control: Catalog or Price List - First Offer	47.00%	1 / each	47.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: HQE is offer as per the attached pricing	ering a 0-47% c sheet.	discount off of Genetec products

26102- -09-07	Genetec Access Control: Catalog or Price List - First Offer	47.00%	1 / each	47.00%
Produc Agency		Supplier Product Code: Supplier Notes: HQE is offer	ering a 0-47% c	discount off of Genetec products
		as per the attached pricing	sheet.	
26102-	Genetec Access Control: Catalog or Price List - First Offer	47.00%	1 / each	47.00%
-09-08 Product Agency		Supplier Product Code:	pring 2 0 47% (	discount off of Genetec products
Agency	Notes.	as per the attached pricing		discount on or denetee products

bid #: Telev	26102 - 0 vision and	Closed Circuit d Genetec	Cit	ty of Okla	ahoma City and Trusts		
	26102-	Genetec Acces	s Control: Website				No Bio
	-09-09 <b>Agency</b>	Notes:			Supplier Product Code:		
	26102- -09-10		Genetec Access Control: Website - Fir		Supplier Notes:	1 / each	
	Product Agency				<b>Supplier Product Code: Supplier Notes:</b> Website P	ricing Is Not Ap	pplicable

				<b>Lot Total:</b> \$276.98
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -10-01	Genetec Access Control-Federal Pricing: Programming and or Assimilation - First Offer		1 / hour	\$65.39
	t Code: Notes:	Supplier Product Code: Supplier Notes:		
26102- -10-02	I .	\$73.23	1 / hour	\$73.23
	t Code:  Notes:	Supplier Product Code: Supplier Notes:		
26102- -10-03	Genetec Access Control-Federal Pricing: Maintenance and or Service - First Offer		1 / hour	\$79.77
	t Code: v Notes:	Supplier Product Code: Supplier Notes:		
26102- -10-04	Genetec Access Control-Federal Pricing: Installation - First Offer		1 / hour	\$58.59
	t Code:	Supplier Product Code: Supplier Notes:		
26102- -10-05			1 / each	
Agency	Notes:	Supplier Notes: 2 hour mir	nimum charge	

26102- Genetec Access Control-Federal Pricing: Catalog or Price List - -10-06 First Offer	47.00%	1 / each	47.00%
-10-06 First Offer  Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: HQE is offer as per the attached pricing:		discount off of Genetec products
26102- Genetec Access Control-Federal Pricing: Catalog or Price List - -10-07 First Offer	47.00%	1 / each	47.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: HQE is offer as per the attached pricing:		discount off of Genetec products

26102- -10-08	Genetec Access Control-Federal Pricing: Catalog or Pricing: Catalo	rice List - irst Offer	47.00%	1 / each	47.00%
Product Agency			Supplier Product Code: Supplier Notes: HQE is offer as per the attached pricing s		liscount off of Genetec products
26102- -10-09	Genetec Access Control-Federal Pricing: Website				No Bids
Agency	Notes:		Supplier Product Code: Supplier Notes:		
26102- -10-10	Genetec Access Control-Federal Pricing: Website - Fi			1 / each	
Product Agency			Supplier Product Code: Supplier Notes: Website Pr	ricing Is Not Ap	plicable

				<b>Lot Total:</b> \$276.98
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -11-01	Attachments: Technical Questionnaire - First Offer		1 / each	

#### Product Code:

#### **Agency Notes:**

### Supplier Product Code:

**Supplier Notes:** The warranty documents are uploaded as an attachment in the Technical Questionnaire.

HQE will provide the City of Oklahoma and its Trusts with the following warranty information:

Axis: 3-5 year warranty Hanwha: 5-year warranty Genetec: 3-5 year warranty

-02-01

and or Assimilation

## City of Oklahoma City and its Trusts

26102- -11-02	Attacl	nments: Federal FTA Contract Clauses / Attachments - First Offer		1 / each	
Product			Supplier Product Code:		
Agency	Notes:		Supplier Notes:		
26102- -11-03		Attachments: W-9 - First Offer		1 / each	
Product Agency			Supplier Product Code: Supplier Notes:		
					<b>Lot Total:</b> \$0.00
Gades	Sales C	0.			\$0.00 (12/49 items)
Bid Co		Robert Wood		5801 West H	_
		rwood@gadestraffic.com Ph 316-305-2003		Wichita, KS	6/209
Qualifi		CS ARCH ENG			
Bid No		See each catalog for itemized pricing for selec	• •		
		access control, cameras and all parts, bracke	1		· ·
Agency	Notes:		<b>Supplier Notes:</b> See each conjugate or software. This		nized pricing for selected des software, access control,
					for Bosch, Axis and Genetec
			replacements.		
	1				
Item #	Line Ite	em	Unit Price	Qty/Unit	Total Price
<b>#</b> 26102-		nstallation and Services: Programming and or		Qty/Unit	Total Price  No Bids
<b>#</b> 26102-	CCTV Ir Assimila	nstallation and Services: Programming and or		Qty/Unit	
# 26102- -01-01	CCTV Ir Assimila Notes:	nstallation and Services: Programming and or	Unit Price Supplier Product Code:	Qty/Unit	
# 26102- -01-01 <b>Agency</b> 26102-	CCTV Ir	nstallation and Services: Programming and or tion	Unit Price Supplier Product Code:	Qty/Unit	No Bids
# 26102- -01-01 <b>Agency</b> 26102- -01-02	CCTV Ir Assimila Notes: CCTV Ir	nstallation and Services: Programming and or tion	Unit Price  Supplier Product Code: Supplier Notes:  Supplier Product Code:	Qty/Unit	No Bids
# 2610201-01 Agency 2610201-02 Agency 26102-	CCTV Ir Assimila  Notes:  CCTV Ir  Notes:	nstallation and Services: Programming and or tion  nstallation and Services: Maintenance and or Service	Unit Price  Supplier Product Code: Supplier Notes:  Supplier Product Code:	Qty/Unit	No Bids  No Bids
# 26102- -01-01 <b>Agency</b> 26102- -01-02 <b>Agency</b> 26102- -01-03	CCTV Ir Assimila Notes: CCTV Ir Notes: CCTV Ir	nstallation and Services: Programming and or tion  nstallation and Services: Maintenance and or Service	Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code:	Qty/Unit	No Bids  No Bids
# 2610201-01 Agency 2610201-02 Agency 2610201-03 Agency 26102-	CCTV Ir Assimila  Notes:  CCTV Ir  Notes:  CCTV Ir  CCTV Ir	nstallation and Services: Programming and or tion  Installation and Services: Maintenance and or Service Installation and Services: Maintenance and or Service	Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code:	Qty/Unit	No Bids  No Bids  No Bids
# 2610201-01 Agency 2610201-03 Agency 2610201-04	CCTV Ir Assimila Notes: CCTV Ir Notes: CCTV Ir Notes:	nstallation and Services: Programming and or tion  Installation and Services: Maintenance and or Service Installation and Services: Maintenance and or Service	Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:	Qty/Unit	No Bids  No Bids  No Bids
# 2610201-01 Agency 2610201-02 Agency 2610201-03 Agency 2610201-04 Agency	CCTV Ir Assimilar Notes:  CCTV Ir Notes:  CCTV Ir Notes:  CCTV Ir CCTV	Installation and Services: Programming and or Ition Installation and Services: Maintenance and or Service Installation and Services: Maintenance and or Service Installation and Services: Installation	Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids  No Bids  No Bids
# 2610201-02 Agency 2610201-03 Agency 2610201-04 Agency 2610201-05 Product	CCTV Ir Assimilar Notes:  CCTV Ir Notes:  CCTV Ir Notes:  CCTV Ir CCTV	Installation and Services: Programming and or Ition Installation and Services: Maintenance and or Service Installation and Services: Maintenance and or Service Installation and Services: Installation	Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids  No Bids  No Bids
# 2610201-02 Agency 2610201-03 Agency 2610201-04 Agency 2610201-05 Product	CCTV Ir Assimilar Notes:  CCTV Ir Notes:  CCTV Ir Notes:  CCTV Ir CCTV	Installation and Services: Programming and or Ition Installation and Services: Maintenance and or Service Installation and Services: Maintenance and or Service Installation and Services: Installation Installation and Services: Minimum Charge - First Offer	Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:		No Bids  No Bids  No Bids

vision and	d Genetec Its	s Trusts			
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -02-02	CCTV Installation and Services-Federal Pricing: Maintenance and or Service			No Bids	
		Supplier Product Code: Supplier Notes:			
26102- -02-03	CCTV Installation and Services-Federal Pricing: Maintenance and or Service			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -02-04	CCTV Installation and Services-Federal Pricing: Installation			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -02-05	CCTV Installation and Services-Federal Pricing: Minimum Charge			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -03-01	Additional Parts and Pieces: Additional Parts and Accessories - First Offer		1 / each	12.00%	
26102- -03-02	Additional Parts and Pieces: Additional Parts and Accessories			No Bids	
Agency		Supplier Product Code: Supplier Notes:	_		
				<b>Lot Total:</b> \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -04-01	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
26102- -04-02	Additional Parts and Pieces-Federal Pricing: Additional Parts and Accessories			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -05-01	Genetec Software Licensing: Genetec Security Center Yearly Software Licenses - First Offer		1 / each	12.00%	
Product Agency		<b>Supplier Product Code:</b> Ge <b>Supplier Notes:</b> See attach software. This catalog includes	ed catalog for i	itemized pricing for selected access control and all parts,	

vision and	d Genetec its	s Trusts		
		brackets necessary for Gene	etec replacem	ents.
				Lat Tatali #0.00
Item				Lot Total: \$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
26102- -06-01	Genetec Software Licensing-Federal Pricing: Genetec Security Center Yearly Software Licenses			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -07-01	CCTV Equipment and Cameras: Catalog or Price List - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:  Supplier Product Code: Bosch Supplier Notes: Bosch catalog that encompasses the entire Bosch line. See each I for individual Percent off MSRP.			e Bosch line. See each line item	
26102- -07-02	CCTV Equipment and Cameras: Catalog or Price List - First Offer	5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Product Code: Axis Supplier Notes: Axis catalog that encompasses the entire Axis line. See each line item for individual Percent off MSRP.		
26102- -07-03	CCTV Equipment and Cameras: Catalog or Price List			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
26102- -07-04	CCTV Equipment and Cameras: Website			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
26102- -07-05	CCTV Equipment and Cameras: Website - First Offer		1 / each	
Product		Supplier Product Code:		
Agency	Nuces.	Supplier Notes:		<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
26102- -08-01	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
26102- -08-02	CCTV Equipment and Cameras-Federal Pricing: Catalog or Price List			No Bids
Agency		Supplier Product Code:		

noion an		Supplier Notes:			
26102-	CCTV Equipment and Cameras-Federal Pricing: Catalog or	опред на		No Bids	
-08-03 Price List  Agency Notes:		Supplier Product Code:			
		Supplier Notes:			
26102- -08-04	CCTV Equipment and Cameras-Federal Pricing: Website			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -08-05	CCTV Equipment and Cameras-Federal Pricing: Website			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -09-01	Genetec Access Control: Programming and or Assimilation			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -09-02	Genetec Access Control: Maintenance and or Service			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:	Code:		
26102- -09-03	Genetec Access Control: Maintenance and or Service			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
26102- -09-04	Genetec Access Control: Installation			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -09-05	Genetec Access Control: Minimum Charge - First Offer		1 / each		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
26102- -09-06	Genetec Access Control: Catalog or Price List - First Offer	12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Genetec Supplier Notes: See attached catalog for itemized pricing for selected software. This catalog includes software, access control and all parts, brackets necessary for Genetec replacements.			
26102- -09-07	Genetec Access Control: Catalog or Price List			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -09-08	Genetec Access Control: Catalog or Price List			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102-	Genetec Access Control: Website			No Bids	

Agency Notes:		Supplier Product Code: Supplier Notes:			
26102- -09-10	Genetec Access Control: Website			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -10-01	Genetec Access Control-Federal Pricing: Programming and or Assimilation			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-02	Genetec Access Control-Federal Pricing: Maintenance and or Service			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-03	Genetec Access Control-Federal Pricing: Maintenance and or Service			No Bids	
Agency		Supplier Product Code: Supplier Notes:			
26102- -10-04	Genetec Access Control-Federal Pricing: Installation			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-05	Genetec Access Control-Federal Pricing: Minimum Charge			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-06	Genetec Access Control-Federal Pricing: Catalog or Price List			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-07	Genetec Access Control-Federal Pricing: Catalog or Price List			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-08	Genetec Access Control-Federal Pricing: Catalog or Price List			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-09	Genetec Access Control-Federal Pricing: Website			No Bids	
Agency	Notes:	Supplier Product Code: Supplier Notes:			
26102- -10-10	Genetec Access Control-Federal Pricing: Website - First Offer		1 / each		
Produc Agency		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
26102- -11-01	Attachments: Technical Questionnaire - First Offer		1 / each		

bid #26102 - Closed Circuit Television and Genetec

### City of Oklahoma City and its Trusts

		Supplier Product Code: Genetec Cert Supplier Notes:				
26102- -11-02	Attachments: Federal FTA Contract Clauses / Attachmer First O		1 / each			
Product Code: Agency Notes:		Supplier Product Code: A Supplier Notes:	Supplier Product Code: Attachment A Supplier Notes:			
26102- -11-03	Attachments: W-9 - First O	fer	1 / each			
Product Agency		Supplier Product Code: V Supplier Notes: Please se				
				Lot Total: \$0.0		
		had Harrison urchasing Agent	. –	Brett Rangel Auditor		

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.